

Mean Square Stability of Difference Equations with a Stochastic Delay

V. B. Kolmanovskii ^a, T.L. Maizenberg ^b
and J.-P. Richard ^c

^a *Moscow Univ. of Electronics and Mathematics and Space Research Institute
(IKI) of Russian Academy of Science, 109172, Moscow, Novospasskii 3-1-20,
Russia*

^b *State University of Mining, Moscow 100102, Russia*

^c *LAIL, CNRS UPRESA 8021, Ecole Centrale de Lille, B.P. 48, 59651 Villeneuve
d'Ascq Cedex, France, corresponding author: jprichard@ec-lille.fr*

Abstract

The paper describes mean-square stability conditions for nonlinear delay difference equations with a stochastic delay. The first part develops a formula for the infinitesimal operator. Using this formula asymptotic mean square stability conditions are derived. A final example is provided.

Key words: delay systems, Markov process, stochastic stability

1 INTRODUCTION

Various problems of the theory of difference equations and their applications are considered in many papers and books. Sometimes, for the adequate modelling of real phenomena (*e.g.*, in engineering practice), difference equations with the shift of the argument (or with delay) are being used. Usually this delay is interpreted as a prescribed constant or as a known deterministic function of time. But because of the numerous sources of incomplete information, the assumption made above is not always valid. In this connection, various problems with non-exactly known values of delay could arise.

In order to take this uncertainty into consideration, sufficient conditions for independent-of-delay stability have been proposed, as well as delay-dependent ones ([3], [7] for difference equations). Such results consider that the delay is unknown (the only information is the assumption that delay is positive),

or may take advantage of some knowledge concerning the delay bounds, so to yield less conservative conditions. However, such approach cannot handle the additional information about, for instance, the most probable value of the delay between these bounds.

One of the possible ways to model uncertainties in the knowledge of delay is to interpret it as a stochastic process. This approach is accepted in the paper. In what follows, we shall formulate the statement of the problem, derive the form of the infinitesimal operator and obtain asymptotic mean square stability conditions.

Stability of differential equations with a stochastic delay was investigated in a number of papers (see, *e.g.*, [1], [2], [4], [5], [6]). In these papers, stability conditions were derived under assumption that, for each fixed value of delay, the corresponding deterministic system were exponentially stable uniformly with respect to all possible values of delay. In other words, these stability conditions are obtained under assumption that the value of delay at each time moment is exactly known (*i.e.* it can be exactly measured). Below, the form of the infinitesimal operator and stability conditions are derived without this assumption and expressed immediately in terms of the probability characteristics of the delay.

Though the random case is quite important in applications, the stability analysis has appeared to be quite difficult without additional assumptions on the random driving sequences.

In particular, in this paper, delay is interpreted as the Markov process with a finite number of states and prescribed transitional probabilities which would appear to encompass many engineering situations. Our further investigation follows through the Liapunov stability techniques for difference equations and some familiarity with this theory is assumed.

2 STATEMENT OF THE PROBLEM

Let be given discrete scalar stochastic system described by the equation,

$$x(n+1) = f(n, x(n), \dots, x(n-\eta(n+1))), \quad n \geq 0. \quad (1)$$

Function f depends on the arguments $(n, x(n), x(n-1), \dots, x(n-\eta(n+1)))$.

Stochastic process $\eta = \eta(n)$ is the Markov process with the possible values of delays $\eta = 1, 2, \dots, r$ and transitional probabilities $P_{ij}(m, n)$. Functions $P_{ij}(m, n)$ ($i, j = 1, \dots, r$; $m, n \geq 1$) are conditional probabilities of the

events $\{\eta(n) = j\}$ under condition $\{\eta(m) = i\}$. They satisfy the Kolmogorov-Chapman equations

$$P_{ij}(m, n) = \sum_{k=1}^r P_{ik}(m, s) P_{kj}(s, n), \quad \text{for all } m \leq s \leq n. \quad (2)$$

Initial conditions for equation (1) are defined for $n = 0$ by the relations

$$\begin{aligned} x(0) &= \psi(0), \\ x(\theta) &= \psi(\theta); \quad \theta = -r, -r+1, \dots, -1, \\ \eta(1) &= i, \quad (1 \leq i \leq r), \end{aligned} \quad (3)$$

where $\psi(0), \psi(\theta), i$ are some prescribed values. Denote by \mathbb{H} the set of all possible values of η , *i.e.* $\mathbb{H} = \{1, 2, \dots, r\}$ and by $x(n + \theta)$ the part of the sequence $x(n-1), x(n-2), \dots, x(n-r)$.

Equation (1) with initial conditions (3) given for arbitrary n , defines the Markov process $X = X(n)$ with discrete time and the set \mathcal{B} of the states $\mathcal{B} = \{\eta(n), x(n), x(n + \theta)\} \in \mathbb{H} \times \mathbb{R}^{r+1}$.

Let $\varphi(k)$ be a sequence, $k \geq -r$, and let θ take all values $\{-r, -r+1, \dots, -1\}$ for each fixed n . Hence, $\varphi(n + \theta)$ is a part of $\varphi(k)$ for $k \in [n-r, n-1]$.

Now, let us derive the expression for the infinitesimal operator \mathcal{L} of the process X . Consider scalar functions V , where

$$\begin{aligned} V &= V(n, \eta, x, \varphi(n + \theta)), \\ n &\geq 0; \eta = 1, \dots, r; x \in \mathbb{R}; \varphi(n + \theta) \in \mathbb{R}^r (\theta = -1, \dots, -r). \end{aligned}$$

Define the operator \mathcal{L}_n^j over the functions $V(n, \eta, x, \varphi(n + \theta))$ by the formula

$$\begin{aligned} \mathcal{L}_n^j V &= \mathcal{L}_n^j V(n, \eta, x, \varphi(n + \theta)) \\ &\triangleq E[V(n+1, \eta(n+1), x(n+1), \varphi(n+1 + \theta)) \\ &\quad - V(n, \eta(n), x(n), \varphi(n + \theta))] /_{\eta(n)=j, x(n)=\varphi(n), x(n+\theta)=\varphi(n+\theta)}. \end{aligned} \quad (4)$$

Here $E[\xi] /_A$ denotes the conditional expectation of the stochastic value ξ under condition A , and $x(n+1)$ is defined by equation (1). Because of $\eta(n+1) \in \mathbb{H}$ for any n , from (4) using (1) we obtain

$$\begin{aligned} &\mathcal{L}_n^j V(n, \eta(n), x, \varphi(n + \theta)) \\ &= \sum_{k=1}^r P_{jk}(n, n+1) [V(n+1, k, f(n, \varphi(n), \dots, \varphi(n-k)), \varphi(n+1 + \theta)) \\ &\quad - V(n, j, \varphi(n), \varphi(n + \theta))]. \end{aligned} \quad (5)$$

Further, let us define the operator $\mathcal{L}_n V$

$$\mathcal{L}_n V = \mathcal{L}_n V(n, \eta(n), x, \varphi(n + \theta)) \triangleq \sum_{j=1}^r P_{ij}(0, n) \mathcal{L}_n^j V(n, \eta, x, \varphi(n + \theta)). \quad (6)$$

By virtue of (5), we have

$$\begin{aligned} & \mathcal{L}_n V(n, \eta(n), x, \varphi(n + \theta)) \\ &= \left[\sum_{k=1}^r V(n + 1, k, f(n, \varphi(n), \dots, \varphi(n - k)), \varphi(n + 1 + \theta)) \right] \\ & \quad \sum_{j=1}^r P_{ij}(0, n) P_{jk}(n, n + 1) \\ & \quad - \sum_{j=1}^r P_{ij}(0, n) V(n, j, \varphi(n), \varphi(n + \theta)) \sum_{k=1}^r P_{jk}(n, n + 1). \end{aligned} \quad (7)$$

But the last sum in (7) equals 1 for arbitrary j and n . Thus, taking into account (2), we get

$$\begin{aligned} & \mathcal{L}_n V(n, \eta(n), x, \varphi(n + \theta)) \\ &= \sum_{k=1}^r P_{ik}(0, n + 1) V(n + 1, k, f(n, \varphi(n), \dots, \varphi(n - k)), \varphi(n + 1 + \theta)) \\ & \quad - \sum_{k=1}^r P_{ik}(0, n) V(n, k, \varphi(n), \varphi(n + \theta)) \\ &= \sum_{k=1}^r \Delta W_i(n, k, \varphi(n), \varphi(n + \theta)). \end{aligned} \quad (8)$$

Here,

$$W_i(n, k, \varphi(n), \varphi(n + \theta)) = P_{ik}(0, n) V(n, k, \varphi(n), \varphi(n + \theta)),$$

and $\Delta W_i(n, k, \varphi(n), \varphi(n + \theta))$ is an increment of $W_i(n, k, \varphi(n), \varphi(n + \theta))$ corresponding to the change of system (1) at the n -th step under condition that the delay is fixed and equal to k .

From the relations (4) – (8) it follows the validity of the following lemma.

Lemma 1. For any $0 \leq n_1 < n_2; i = 1, \dots, r; \psi(0), \psi(\theta) \in \mathbb{R}^r$, formula (9) holds:

$$E_{n_1, X_1} V(n_2, \eta(n_2), x(n_2), x(n_2 + \theta)) - V(n_1, i, \psi(0), \psi(\theta)) \quad (9)$$

$$= E_{n_1, X_1} \sum_{k=n_1}^{n_2-1} \mathcal{L}_k^{\eta(k)} V(k, \eta(k), x(k), x(k+\theta)).$$

Here E_{n_1, X_1} is a sign of conditional expectation under condition

$$X_1 = X(n_1) = \{\eta(n_1) = i, \psi(0), \psi(\theta)\} \in \mathcal{B}.$$

Proof. At first, it is easily to see that

$$\begin{aligned} & V(n_2, \eta(n_2), x(n_2), x(n_2 + \theta)) - V(n_1, \eta(n_1), x(n_1), x(n_1 + \theta)) \\ &= \sum_{k=n_1}^{n_2-1} [V(k+1, \eta(k+1), x(k+1), x(k+1 + \theta)) - \\ & \quad - V(k, \eta(k), x(k), x(k + \theta))]. \end{aligned} \quad (10)$$

Taking expectation from both parts of (10), we obtain

$$\begin{aligned} & E_{n_1, X_1} V(n_2, \eta(n_2), x(n_2), x(n_2 + \theta)) - V(n_1, i, \psi(0), \psi(\theta)) \\ &= E_{n_1, X_1} \sum_{k=n_1}^{n_2-1} [V(k+1, \eta(k+1), x(k+1), x(k+1 + \theta)) \\ & \quad - V(k, \eta(k), x(k), x(k + \theta))]. \end{aligned} \quad (11)$$

Using properties of conditional expectation, right-hand side of (11) can be represented as

$$\begin{aligned} & E_{n_1, X_1} \left\{ \sum_{k=n_1}^{n_2-1} E[V(k+1, \eta(k+1), x(k+1), x(k+1 + \theta)) \right. \\ & \quad \left. - V(k, \eta(k), x(k), x(k + \theta))] / \eta(k), x(k), x(k+\theta) \right\}. \end{aligned} \quad (12)$$

Remark that in (11)-(12), instead of the sequence $\varphi(n)$ introduced in relations (4)-(8), we have used the solution of the problem (1),(3). By virtue of this from (11),(12),(4), relation (9) holds and Lemma 1 is proven.

As for (5)-(6), right hand side of (9) can be written as follows:

$$E_{n_1, X_1} \sum_{k=n_1}^{n_2-1} \sum_{j=1}^r P_{ij}(n_1, k) \mathcal{L}_k^j V(k, \eta, x(k), x(k + \theta)). \quad (13)$$

Put $n_1 = 0$ in (9) and (13). Then, by virtue of (8), for any $n > 0$, $X = \{i, \psi(0), \psi(\theta)\}$,

$$\begin{aligned}
& E_{0,X} V(n, \eta(n), x(n), x(n+\theta)) - V(0, i, \psi(0), \psi(\theta)) \\
&= E_{0,X} \sum_{k=0}^{n-1} \sum_{j=1}^r \Delta W_i(k, j, x(k), x(k+\theta)),
\end{aligned} \tag{14}$$

with

$$\begin{aligned}
& \Delta W_i(k, j, \varphi(k), \varphi(k+\theta)) \\
&= P_{ij}(0, k+1) V(k+1, j, f(k, \varphi(k), \dots, \varphi(k-j)), \varphi(k+1+\theta)) \\
&\quad - P_{ij}(0, k) V(k, j, \varphi(k), \varphi(k+\theta)).
\end{aligned} \tag{15}$$

From (14),(15) it follows that stability problem for stochastic system (1),(3) can be reduced to the stability problems for r systems with constant delays $\eta = i$, where $i = 1, \dots, r$.

3 STABILITY CONDITIONS

Without loss of generality stability of the solutions of system (1),(3) will be investigated under usual assumption

$$f(n, 0, 0, \dots, 0) = 0. \tag{16}$$

Theorem 1. Assume that there exists a function $V = V(n, \eta, x, \psi(\theta))$ such that for any sequence $\varphi(k)$ ($k \geq -r$), $n \geq 0$, $\eta \in \mathbb{H}$ and some positive constants C_j the following inequalities are met (remind ΔW_i is defined by (15))

$$1) C_1 \varphi^2(n) \leq V(n, \eta, \varphi(n), \varphi(n+\theta)) \leq C_2 \max_{n-r \leq k \leq n} \varphi^2(k), \tag{17}$$

$$2) \sum_{j=1}^r \Delta W_i(n, j, \varphi(n), \varphi(n+\theta)) \leq -C_3 \varphi^2(n). \tag{18}$$

Then the zero solution of the problem (1),(3) is asymptotically mean-square stable in the whole. It means that for any

$$X = \{i, \psi(0), \psi(\theta)\} \in \mathcal{B}, \quad \varepsilon > 0, \quad n > 0,$$

there is $\delta > 0$ such that if $|\psi(0)| + \max_{-r \leq \theta \leq -1} |\psi(\theta)| < \delta$, then

$$E_{0,X} x^2(n) < \varepsilon, \tag{19}$$

$$\text{and } \lim_{n \rightarrow \infty} E_{0,X} x^2(n) = 0. \tag{20}$$

Proof. From (14), using (17)-(18), it follows that

$$E_{0,X} x^2(n) \leq \frac{C_2}{C_1} \max_{-r \leq \tau \leq 0} \psi^2(\tau), \quad (21)$$

$$\sum_{n=0}^{\infty} E_{0,X} x^2(n) < \infty$$

Inequalities (21) imply the validity of relations (19), (20). Theorem 1 is proven.

Let us assume further that for some constant $K_1 > 0$ and all $n \geq 0$, $x_1, x_2 \in \mathbb{R}$, $\psi_1(\theta), \psi_2(\theta) \in \mathbb{R}^r$ ($\theta = -1, -2, \dots, -r$), the following inequality is fulfilled

$$\begin{aligned} & |f(n, x_1, \psi_1(\theta)) - f(n, x_2, \psi_2(\theta))|^2 \\ & \leq K_1(|x_1 - x_2|^2 + \max_{-r \leq \theta \leq -1} |\psi_1(\theta) - \psi_2(\theta)|^2). \end{aligned} \quad (22)$$

Note that, due to (16), relation (22) implies for all $n \geq 0$, $x \in \mathbb{R}$, $\psi(\theta) \in \mathbb{R}^r$, the inequality

$$|f(n, x, \psi(\theta))|^2 \leq K_1(|x|^2 + \max_{-r \leq \theta \leq -1} |\psi(\theta)|^2). \quad (23)$$

Inequality (23) has as a consequence the following Lemma 2, which can be easily proven by induction on n .

Lemma 2. For each solution $x(n)$ of the problem (1), (3) and all n we have

$$\begin{aligned} \max_{n-r < s \leq n} |x(s)|^2 & \leq 2^{n-1} K_2^n \left[\max_{-r \leq \tau \leq 0} |\psi(\tau)| \right]^2 \\ & \text{with } K_2 = \max(1, 2K_1). \end{aligned} \quad (24)$$

Now, let us consider the system which can be obtained from (1), (3) for some prescribed value of delay, say $\eta = k$, where k is one of the integers $1, 2, \dots, r$, *i.e.*

$$\begin{aligned} x(n+1) &= f(n, x(n), \dots, x(n-k)); \\ x(0) &= \psi(0), x(-1) = \psi(-1), \dots, x(-k) = \psi(-k). \end{aligned} \quad (25)$$

Assume that for the system (25) can be constructed a function V_k ,

$$V_k = V_k(n, \varphi(n), \dots, \varphi(n-k))$$

satisfying the conditions (17), (18), *i.e.*

$$\begin{aligned}
C_1 \varphi^2(n) &\leq V_k(n, \varphi(n), \dots, \varphi(n-k)) \leq C_2 \|\varphi_n\|_k^2, \\
\Delta V_k &= V_k(n+1, f(n, \varphi(n), \dots, \varphi(n-k)), \varphi(n), \dots, \varphi(n+1-k)) \\
&\quad - V_k(n, \varphi(n), \dots, \varphi(n-k)) \\
&\leq -C_3 \varphi^2(n), \\
\text{with } \|\varphi_n\|_k &= \max_{n-k \leq s \leq n} |\varphi(s)|.
\end{aligned} \tag{26}$$

Then the deterministic system (25) will be asymptotically stable in the whole.

Now, let us define the function V_k for the other values of delay η in such a way that stability will be kept for the stochastic case as well. Put

$$V(n, \eta, x, \psi(\theta)) \triangleq \begin{cases} V_k(n, x, \psi(-k), \dots, \psi(-1))/P_{kk}(0, n), & \eta = k, \\ C_4 x^2, & \eta \neq k. \end{cases} \tag{27}$$

In addition, we assume that for all n and some positive δ ,

$$P_{kk}(0, n) \geq \delta > 0. \tag{28}$$

The constant C_4 in (27) will be defined later. Let us calculate for the function (27) the expression at the left-hand side of (18). By virtue of (15) we have

$$\begin{aligned}
\Delta &= \sum_{j=1}^r [P_{kj}(0, n+1)V(n+1, j, f(n, \varphi(n), \dots, \varphi(n-j)), \varphi(n), \dots, \varphi(n-j+1)) \\
&\quad - P_{kj}(0, n)V(n, j, \varphi(n), \dots, \varphi(n-j))].
\end{aligned}$$

Because of (26), (27),

$$\Delta \leq -C_3 \varphi^2(n) + \Delta_1,$$

where $\Delta_1 = \sum_{j, j \neq k} \delta_{kj}$ and, for $j \neq k$,

$$\begin{aligned}
\delta_{kj} &= P_{kj}(0, n, +1)V(n+1, j, f(n, \varphi(n), \dots, \varphi(n-j)), \varphi(n), \dots, \varphi(n-j+1)) \\
&\quad - P_{kj}(0, n)V(n, j, \varphi(n), \dots, \varphi(n-j)).
\end{aligned}$$

On the basis of (27),

$$\delta_{kj} = C_4 P_{kj}(0, n+1) f^2(n, \varphi(n), \dots, \varphi(n-j)) - C_4 P_{kj}(0, n) \varphi^2(n).$$

But for all n , $\sum_{j,j \neq k} P_{kj}(0, n) \leq 1 - \delta$. Consequently,

$$\Delta \leq \varphi^2(n)(-C_3 + C_4 K_1(1 - \delta)) + C_4 K_1 \sum_{j,j \neq k} P_{kj}(0, n + 1) \|\varphi_n\|_j^2.$$

Let us choose constant C_4 from the condition

$$-C_3 + C_4 K_1(1 - \delta) \leq -C_5 < 0.$$

Then, for any sequence $\varphi(n)$, the following inequality is met:

$$\Delta \leq -C_5 \varphi^2(n) + K_1 C_4 \sum_{j,j \neq k} P_{kj}(0, n + 1) \|\varphi_n\|_j^2. \quad (29)$$

Let us put $\varphi(n) = x(n)$ and substitute (29) into (14). By virtue of (26) we have for all n ,

$$\begin{aligned} C_1 E_{0,X} x^2(n) &\leq V(0, k, \psi(0), \psi(\theta)) \\ &+ C_4 K_1 \sum_{s=0}^{n-1} \sum_{j,j \neq k} P_{kj}(0, s + 1) E_{0,X} \|x_s\|_j^2 - C_5 \sum_{s=0}^{n-1} E_{0,X} x^2(s). \end{aligned} \quad (30)$$

Now let us require that for all j , $j \neq k$ the series $\sum_{n=0}^{\infty} P_{kj}(0, n + 1) E_{0,X} \|x_n\|_j^2$ are convergent. Sufficient conditions for these requirement are inequalities

$$P_{kj}(0, n) \leq C^{-n}, \quad j \neq k, \quad C > 2K_2. \quad (31)$$

Then, quite similar to the proof of Theorem 1, we can prove relations (21) using inequality (30). As a result, we have proven the following result.

Theorem 2. Assume that for some $k = 1, \dots, r$ there exists a functional V_k , satisfying inequalities (26), and transition probability $P_{kj}(0, n)$ of the Markov chain $\eta(n)$ satisfy the inequalities (28), (31). Then the zero solution of the problem (1), (3) under condition $\eta(1) = k$ is asymptotically mean square stable in the whole.

Remark 1. Let us write the Kolmogorov-Chapman equation for the transition probabilities $P_{kj}(0, n)$ for $j \neq k$,

$$P_{kj}(0, n + 1) = \sum_{s=1}^r P_{ks}(0, n) P_{sj}(n, n + 1)$$

$$\begin{aligned}
&= P_{kk}(0, n)P_{kj}(n, n+1) + P_{kj}(0, n)P_{jj}(n, n+1) \\
&\quad + \sum_{s, s \neq k, s \neq j} P_{ks}(0, n)P_{sj}(n, n+1).
\end{aligned}$$

From here it follows that the functions $P_{kj}(0, n)$ for all $j, j \neq k$ tend to zero with the desired velocity if all entries $P_{sq}(n, n+1)$ of the transition probabilities matrix of the process $\eta(t)$ tend to 0 with the same velocity, except the entries of its k^{th} column which must tend to 1.

Remark 2. From the proof of Theorem 2, it follows that condition (31) can be deleted if inequalities (26) hold for $k = r$ and the last of them is replaced with

$$\Delta V_r \leq -C_3 \left[\max_{n-r \leq s \leq n} |\varphi(s)| \right]^2.$$

4 EXAMPLE

Consider a scalar system

$$x(n+1) = ax(n - \eta(n+1)), \quad n \geq 0. \quad (32)$$

Here, a is a constant parameter, $|a| < 1$, and Markov process $\eta(n)$ takes two values: either 0 or 1. Probability transition matrix of the process $\eta(n)$ has a form

$$P = \begin{pmatrix} 1 - c(n) & c(n) \\ d(n) & 1 - d(n) \end{pmatrix}, \quad \begin{cases} c(n) = q^{-2n}, \\ d(n) = 1 - q^{-n}, \\ q > 2. \end{cases} \quad (33)$$

If $\eta(n) = 0$ and $|a| < 1$, then as a Liapunov function V , satisfying inequalities (26), we can take $V(n, \varphi(n)) = \varphi^2(n)$. Let us check now that the transition probabilities $P_{00}(0, n)$ and $P_{01}(0, n)$ satisfy the relations (28), (31) for $k = 0$ and $j = 1$. By virtue of equations (2) for $P_{00}(0, n)$ and $P_{01}(0, n)$ for $n \geq 1$, the following equalities hold:

$$\begin{aligned}
P_{00}(0, n+1) &= P_{00}(0, n)(1 - c(n)) + P_{01}(0, n)d(n), \\
P_{01}(0, n+1) &= P_{00}(0, n)c(n) + P_{01}(0, n)(1 - d(n)).
\end{aligned} \quad (34)$$

If we exclude from (34) the probability $P_{01}(0, n)$, then we obtain

$$P_{00}(0, n+1) = (1 - c(n) - d(n))P_{00}(0, n) + d(n).$$

From here and (33) it follows that

$$P_{00}(0, n+1) = (q^{-n} - q^{-2n})P_{00}(0, n) + (1 - q^{-n}).$$

Hence,

$$\begin{aligned} P_{00}(0, n+1) &\geq 1 - q^{-n} \geq 1 - q^{-1} > 0, \\ P_{01}(0, n+1) &= 1 - P_{00}(0, n+1) \leq q^{-n}, \quad n \geq 1. \end{aligned}$$

So, both relations (28) and (31) are fulfilled. It means that system (32) is asymptotically meansquare stable if $|a| < 1$ and transition probabilities of the delay $\eta(n)$ are defined by the formulas (33).

References

- [1] KATZ I.IA. *Liapunov method in stability of stochastic systems*. Ekaterinburg, Ural Academy of Railway, 1998.
- [2] KOLMANOVSKII V.B., NOSOV V.R., *Stability of Functional Differential Equations*. N-Y, London, Academic Press, 1986.
- [3] KOLMANOVSKII V.B., LAFAY J.F, RICHARD J.P., *Riccati equations in stability theory of difference equations with memory*, ECC'99 (European Control Conference), Karlsruhe, Germany, September 1999.
- [4] KRTOLICA R., ÖZGUNER Ü., CHAN H., GÖKTAS H., WINKELMAN J., LIUBAKKA M., *Stability of linear feedback systems with random communication delays*, Int. J. Control, Vol. 59, No. 4, p. 925-953, 1991.
- [5] NILSSAN J., BERNHARDSEN B., WITTENMARK B. *Stochastic Analysis and Control of real-time systems with random time delays*, Proc. 13th IFAC World Congress, 1996.
- [6] RAY A. *Output feedback control under randomly varying distributed delays*, J. of Guidance, Control and Dynamics, 17:4, p. 701-711, 1994.
- [7] VERRIEST E.I., IVANOV A.F., *Robust stability of delay-difference equations*, Proc. CDC'95, 34th Conference on Decision and Control, New Orleans, p. 386-391, December 1995.